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2 To achieve a successful throw, the performer must learn to co-ordinate the action of the muscles
and joints to increase the distance thrown.

Figure 1 shows a cricket player throwing a ball.

Figure 1

Pasition A Position B

(@) Copy Table 1 into your answer book and then complete it. Using Figure 1, identify the joint
action and the main agonist involved at the elbow and the shoulder when moving from

Position A to Position B. (4 marks)
Table 1
Throwing Phase Joint Action Main Agonist
Elbow
Shoulder

(b) (i) Name and sketch the lever system operating at the elbow during the throw. (3 marks)
(i) What are the advantages and disadvantages of this class of lever system? (2 marks)

(c) : Identify and define twomain components of fitness that are required by a cricket player.
(3 marks)
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(a)

Throwing phase Joint Action Main agonist

Elbow Extension Triceps

Shoulder Horizontal flexion (Anterior) Deltoids/

pectorals

4 marks

(b)y )

1 First class lever system

2., Correct labels — effort/force, fulcrum/pivot, resistance/load

3. Correct order - fulcrum/pivot in centre

For example:
Effort Resistance
Fulcrum

3 marks

(b)  (ip)
1 Advantages — short effort/force arm — large range of movement/high speed of

movement
2. Disadvantages — long resistance arm — considerable force needed to move

resistance/weak
2 marks

(Agility) - ability to change direction quickly
(Speed) - maximum rate a person can move over a specific distance/ability to put
body parts in motion quickly

(c)

1. Agility/speed/flexibility/co-ordination/power
2

3

4. (Flexibility) - a wide range of movement around the joint
5, (Co-ordination) - ability to move limbs accurately
6 (Power) - combination of strength x speed

Only accept first two components
(2 correct components = 1 mark; correct definition for each = 1 mark)
3 marks





